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TrigonometryExercise Answers for ID 9395

[T1] ==, [T2] =0, [T3] =0, [T4] =m, [T5]:§

76, s 17, —3—ﬂ T8 —3—n 79 —4—n T10, _5_15
[ ]_ 2> [ ] - 2 s [ .] - 2 ’ [ ]_ 3 s [ ]_ 3
T11 - T12 _2r T13 EL T14 1z TI5 i
[ ]_ 39 [ ] - 3 > [ ] - 4 > [ ] - 4 > [ ] - 4
Ti6, ek T17, - T18 1T T19 _2r 120] = Hr
[ ]_ 4 H [ ]_ 6’ [ ]_ 6 H [ ]_ 6 H [ ]_ 6
[T21] =0,  [T22] =-1,  [T23]=-1,  [T24] ="undefined",  [T25] =-1, @
3 : il
[T26]=0,  [T27]=0,  [T2§]=1,  [T29] ===~ [T30]="—, -
[T31] = 2*3/?’ [T32] =-2, [T33]=@, [T34]:—@, [T35]=ﬁ, @
[T36] =1,  [T37] :%, [T38] =§, [T39] :@, [T40] = -2, @

[T43] =0,  [T44] =18

\O

[T41] =-16,  [T42] =

s
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TrigonometryExercise Answers for ID 9419

[T1] =0,  [T2]=m,  [T3]=0, [T4]=nm, [T5]=3TTE

T6, _Z 17, _Z 78 —3—7[ 79 —4—n T10, _2_7:
[]_2a []_2a []_23 []_3’ [ ]_3
T11 - Ti2 ek T13 _3n T14 - T15 ek
[ ]_ 37 [ ]_ 3 s [ ]_ 4 > [ ]_ 47 [ ]_ 4
Ti6 —ﬁ T17 —ﬁ T18 —S—T[ T19 = T20] = Hr
[rej === [I7]==~  [TI§] === [TI9]="0,  [T20] =
[T21] =-1, [122] =0, [T23] = "undefined", [T24] =1, [T25] =0, ,@
[T26] =-1,  [T27] ="undefined",  /T28] = "undefined",  [T29] = 31 [T30] =— @ , @
[T3]]:¥, [T32]:@, [T33]=@, [T34]:—@, [1735] =42, @
[T36] =1, [T37]:%, [T38]:@, [T39]=—%, [T40] =43, @

[T41] =3, [T42] =-22, [T43] =-3, [T44] =38
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TrigonometryExercise Answers for ID 9428
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[TI] =0, [T2] =m, [T3] =m, [T4] =0, []“5]:377.E
76] == 7] =~ 18 =~ 197 =% r10) = 2=
[T6] =", [T7]=", [T =7 [T9]=—r,  [TI0]=—
T11y -2 T12] == T13) =22 7147 =% 7157 <
[TH]=—" (T2 =7 [TI3] =7 [Ti4] ="  [TI5] =",
T16) == 1177 =1L 7187 - LT 1.1 01~ T
[riej === [Tr7] === [TI§] == = [TI9] ==~ [T20] =",
[121] =1, [T22] =0, [T23] =0, [T24] = "undefined", [T25] =-1, ’@
[T26] =0,  [T27] =0,  [T28] = "undefined", [T29]:%, [T30]——@, @
[T31]=—#, [T32]=«/?, [T33]=—£, [T34]:—@, [T35] =1, @
[T36] =1, [T37] :—ﬁ, [T38] =%, [T39] =— 2«3/3’ [T40] :@’ £
[T41] =42, [T42] =-15,  [T43] =6,

Y/
[T44] = 18

TrigonometryExercise Answers for ID 9459
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[T1] =0, [T2] =, [T3] =m, [T4] =0, [T5]:§
T6, —3—7[ 17, —3—n T8 i~ 79 —ﬂ T10 _Z
[]_23 []_2’ []_2’ []_3a [ ]_3
T11 72_717 Ti2 *4—n T13 ek T14 1z Ti5 73_75
[ ]_ 3 s [ ] - 3 s [ ] - 4 > [ ] - 4 > [ ] - 4
Ti6, = Ti7, —ﬂ Ti8 = T19 —7—n T20] = Hr
[T16] =7 7y == [T18] =2, [TI9] == [T20] =
[T21] =-1,  [T22] =0,  [T23] ="undefined",  [T24] =0,  [T25] =-1, , @
[T26] =0,  [T27] ="undefined",  /T28] = "undefined",  /[T29] = % [T30] =— @ , @
[T31] = # [T32] = @ [T33] = @ [T34] = @ [T35] =2, ﬂ
[T36] =1, [T37]:—§, [T38] =%,
[T41] =4,
X [Page = 0002]

[T39]=¥,

[T40] = -2, @
[T43] = 44,

,
[T42] = 14, [T44] =4
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TrigonometryExercise Answers for ID 9476

[Tl]=n,  [T2] =0,

3n
[T3]=0,  [T4] =m,  [T5]=""
76, = 17 = T8 _3_75 79 —2—n T10, _4_n
[]_29 [.]_29 [.]_27 []_33 [ ]_3
T11 —S—TE TI2 - T13 —S—TE T14 u T15 —7—n
[ ]_ 3 > [ ]_ 39 [ ]_ 4 > [ ] 49 [ ]_ 4
Ti6, *ﬁ T17] = Hr T18 ek T19 - 720, 1T
[ ]_ 4 H [ ]_ 6 > [ ]_ 6 H [ ]_ 6’ [ ]_ 6
[T21] =0,  [T22] =-1,

[T23] = "undefined", [T24] =0,  [T25] =0, ,
I3 -1
[T26] =-1, [T27] = "undefined", [T28] =0, [T29] = B [T30] =5

/
[T31] =2,  [T32] = 3 2 /2

W

5

o [Tl=- =" T35 =1, , 7\
[T36] =1,  [T37] =— @ [T38] = ;1 [T39] =A[3,  [T40] = - % , @
[T41] =26,  [T42] =38,  [T43]=-2,  [T44] =42
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TrigonometryExercise Answers for ID 9491

[T]]=n, [T2]=nm,

[T3]=0,  [T4]=0,  [T5] :g
T6, = T7 —S—TC T8 —3—n 79 —4—n T10 _2_7:
[]_2’ []_23 []_27 []_3’ [ ]_3
T11 ek Ti2 - T13 1z T14 ek Ti5 -
[ ]_ 3 > [ ]_ 37 [ ]_ 4 > [ ]_ 4 > [ ]_ 4
T16, —ﬁ Ti7 —S—TC TiS8 —7—7[ Ti9 = T20] = Hr
[TI6] == [TI7]=" [TI§] ==~ [TI9] =" [120] ==
[T21] =-1,  [T22]=0,  [T23]=1,  [T24]=0,  [T25] =0, @
/3 ]
[T26] =1, [T27] ="undefined",  [T26] =0,  [T29] ==, [T30] =7, "
[T31] =A[3,  [T32] = —%, [T33] = @ [T34] = —@, [T35] =2, , @
[T36] = /2, [T37]:—@, [T38]:§, [T39] = -2, [T40]=¥, @
[T41] =-8,  [T42] =20,
X [Page = 0003]

[T43] =-17,  [T44] =8
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TrigonometryExercise Answers for ID 9633

[T]] ==, [T2] =0, [T3] =m, [T4] =0, []“5]:377.E

6] = — 7] =L 78] =— T =22 T10] ==
[]_29 [.]_27 []_27 []_33 [ ]_3
Ti1] == 12 =22 T13] == T14 =2 T15] = >
[ ] - 39 [ ] - 3 > [ ] - 4, [ ] - 4 > [ ] - 4
T16] =~ r17) ==~ T18] =— 7107 =1 20 =2
[ ]_ 4 > [ ] - 6 > [ ] - 6’ [ ] - 6 s [ ] - 6
[T21] =0,  [T22] =-1,  [T23] ="undefined”,  [T24] =0,  [T25] =1, @
1 I3 \
[T26] =0, [T27] ="undefined”,  [T28] =0,  [T29] =2,  [T30] =", N
[T31]:#, [T32] = -2, [T33]:—f, [T34]:—@, [T35] =1, , /\
[T36] =2, [T37] =%, [T38] :@, [T39] =43, [T40]:#, , /\
[T41] =31,  [T42] =-8,  [T43] =33,  [T44]=-1
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TrigonometryExercise Answers for ID 9711

[Tl]=n,  [T2]=0, [T3]=0, [T4]=n, [T5]=3TTE

76, —3—n 17 = T8 = 79 = T10 —2—n
[]_2> []_27 []_27 []_37 [ ]_3
T11 *4—n Ti2 ek Ti3 73_75 T4 - TI5 1z
[ ]_ 3 > [ ] - 3 > [ ] - 4 > [ ] - 47 [ ] - 4
T16, —ﬂ Ti7] = Hr Ti8 —E T19 —S—TC 720 =
[T16] === [TI7] == [T18] === [T19] ==~ [120] ==
[T21] =0,  [T22] =1,  [T23] ="undefined",  [T24] =1,  [T25] =1, , J/T
3 1 4
[T26] =0, [T27] =0, [T28] ="undefined",  [T29] =———,  [T30] =", S
[T31] =43, [T32]:@, [T33]=—@, [T34]:£, [1T35] =+[2, @
[T36] =2, [T37] = f [T38] = ;1 [T39] = @ [T40] = -2, , @
[T41] =12,  [T42] =224,  [T43] =-2,  [T44] =24
X [Page = 0004]
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TrigonometryExercise Answers for ID 9784

[T]] ==, [T2] =0, [T3] =0, [T4] ==, []“5]:377.E

76, _3_75 17 - T8 - T9 —4—n T10, _5_1:
[]_27 []_27 []_27 []_33 [ ]_3

[T]]]—E [T]2]—2—TC [T13] = T [T14]—5—n [T15]—3—n
T3 37 T4 T4 T4
T16 T T17] = lz TI8 *H TI19 -t 720 *H
[T =7, [T17]==  [TI§] ="~ [T19 = [120]=—
\
[T21] =-1, [T22] =0, [T23] = "undefined", [T24] =0, [T25] =0, ,4
1 I3 Ji
[T26] = -1, [T27] = "undefined", [/T28] = "undefined", [T29] :E, [T30] :T, ,7
2 2 \
[T31] =3, [132] =2, [T33]=§, [T34]=—§, (5] =2, -
3 1 24/3 \
[T36] = 1, [T37]:—§, [T38] =2, [T39] =2, [T40]:T[, #
[T41] =131,  [T42] =-10,  [T43] =-7,  [T44] =-32
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TrigonometryExercise Answers for ID 10143

[TI] =0, [T2] =0, [T3] =m, [T4] =, [T5] :37“

[T6]—£ [T7]—3—TE [T8]—£ [T9]—£ [TIO]—4—TE
2 T2 2 T3 T3
TI11 *S_E TI2 72_71: TI3 T T4 *7_71: TI15 2T
[Tl == [T12]=" [T13=y. [Tl =" [TI5] =7
T16, —ﬂ T17 —7_TC T18 T T19] = i 720 —5_n
[ ]_45 [ ]_65 [ ]_65 [ ]_65 [ ]_6
\
[T21] =-1,  [T22] =0,  [T23] =0,  [T24] ="undefined",  [T25] =1, , #
3 1 J1
[126]=0.  [T27] ="undefined",  [T28] ="undefined",  [T29] ==~ [T30] ==, S
243 2 2 \
[T31] =43, [T32]=T[, [T33]=—§, [T34]=§, [T35] =1, 4
1 3 24/3 |
(r36] =2, (137 =, [T38J=§, [T39] =43, [TWZT[’ 4
[T41] =27, [T42] =-10, [T43] =15, [T44] =-13
X [Page = 0005]
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TrigonometryExercise Answers for ID 10359

[Tl] =x,  [T2]=m,

[T3] =0,  [T4]=0,  [T5] :g
R R T 27 T
[T6]==7  [17]="  [T§)=7. (1= [TI0] ="
Ti1] == 12 =22 T13] == T14 =2 r15) =1~
[ ]_39 [ ]_33 [ ]_4’ [ ]_43 [ ]_4
S5m Tn 1= Sm
[TI6] == [T17]==  [TI§==  [T19] =" [T20] =
[T21] =-1,  [T22] =0,  [T23] ="undefined”,  [T24] =0,  [T25] =1, @
3 1 1
[T26] =0, [T27]=-1,  [12] ="undefined”,  [T29] =="—  [T30] =, S
2 2 \
[T31] =2, [T32] =4[3,  [T33]=—"—  [T34] = o m3s- /2, S
[T36] =1,  [T37] = @ [T38] = % [T39] = % [T40] = -2, , @
[T41] =-122,  [T42] =8,  [T43] =-9,

[T44] =79
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TrigonometryExercise Answers for ID 10626

[T1] =0,  [T2]=m,

3w
[T3]=m  [T4]=0,  [T5]="—
T6, = 17 = T8 —3—7[ 79 —2—n T10 —S—R
[]_2’ []_2’ []_23 []_3’ [ ]_3
T11 - Ti2 *4—n T13 ek T14 73_75 Ti5 -
[ ]_37 [ ]_37 [ ]_45 [ ]_45 [ ]_4
T16, —E Ti7] = Hr Ti8 —ﬂ T19 = 720 _7_7:
[T16] === [TI7] == [TI8] === [TI9] =", [120] ==
[T21] =-1,  [T22] =0,  [T23]=-1,  [T24] ="undefined",  [T25] =0, , ﬂ
[T26] =-1,  [T27] ="undefined",  /T28] = "undefined",  [T29] = 31 [T30] = @ , @
[T31] :%, [T32] =[3,  [T33] = —@, [T34] :@, [T35] =1, @
[T36] =2, [T37]:—§, [T38]:%, [T39] =43, [T40]:%, @
[T41] =-3,  [T42] = 106,
X [Page = 0006]

[T43] =15,  [T44] =-7
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TrigonometryExercise Answers for ID 11002

[TI] =0,  [T2] =nm,

[T3]=m,  [T4]=0,  [T5] :g
T6] = — 77 =L 18] =L ro7 = 2% r10] =2
[ ] - 2> [ ] - 2 > [ .] - 2 B [ ] - 3 s [ ] - 3
i1y = 2% T12] =~ T13] == T14 =2 r15) =2
[ ] - 3 > [ ] - 39 [ ] - 4, [ ] - 4 > [ ] - 4
T16] =~ r17) =% T18] =— r19] == 1207 =1
[ ]_ 4 > [ ] - 6 > [ ] - 6’ [ ] - 6 > [ ] - 6
[T21] =0,  [T22] =-1,  [T23]=-1,  [T24] ="undefined",  [T25] =-1, @
3 -1 1
[T26] =0, [T27]=0,  [T28]=-1,  [T29] ="=  [T30] =7, i
[T31] =3, [T32]=2,  [T33] = @ [T34] = @ [T35] =2, , 7\
1 3 243 \
[T36] =1,  [T37] ==,  [T38] =~ [T39]=2,  [T40] =———, U
2 2 3 /
[T41] =0,  [T42] =11,  [T43] =16,  [T44] =75
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TrigonometryExercise Answers for ID 11188

[Tl =n,  [T2] =0,

37
/T3] =0, [T4] ==, [T5]:T
[T6]—3—n 17 == 18] =~ [T9]—4—TE [T10]—5—n
27 2 2 37 T3
TI11 T TI2 72_717 TI3 *3—n T4 77_15 TI15 T
[]—3, []—3, []—4, []—4, []—4
T16 —ﬂ TI17 T T18 —ﬂ T19] = e 720 —ﬂ
[ ]_45 [ ]_65 [ ]_65 [ ]_65 [ ]_6
[T21] =-1,  [T22] =0,  [T23] ="undefined",  /[T24] = "undefined",  [T25] =0,
[T26] =1,

[T27] ="undefined", [T28] = "undefined",

v
y

v
[T31] =3, [T32] _23 f 2

[T29]=%, [T30]=@,

5

/
/2 i
[T33] =— 5 [T34] = 5 [T35] =1, =
1361 =A[2,  [T37) =@, [T38] :%, [T39] :%, [T40] =2, @
[T41] = 33, [T42] =-10, [T43] = -47,
X [Page = 0007]

[T44] = -22
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TrigonometryExercise Answers for ID 11505
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[TI]=0, [T2]=0, [T3]=n  [T4]=n,  [T5] :%
T6] = 7] == 78] =L 9] =— r10] =2~
[]_27 []_27 []_23 []_33 [ ]_3
iy =22 12 =% r13) =L T14 =L T15) =1~
[ ] - 3 > [ ] - 3 > [ ] - 4 B [ ] - 4 B [ ] - 4
Ti6] =— 17 =% r18) == 7107 =11 T20] ==
[ ] - 4’ [ ] - 6 > [ ] - 6 > [ ] - 6 ] [ ] - 6
[T21] =0,  [T22] =-1,  [T23] ="undefined”,  [T24] =0,  [T25] =0, @
[T26] =1,  [T27] = "undefined",  [T28] = "undefined",  [T29] :%, [T30] _—@, @
[T31] =43, [T32) :@, [T33] =—£, [T34] :@, [T35] =2, @
[T36] =1,  [T37] :—@, [T38] :%, [T39] :#, [T40] :@, ﬂ
[T41] =60,  [T42] =-46,  [T43] =5,

/
[T44] =33

TrigonometryExercise Answers for ID 12113
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[Tl]=n, [T2]=n,  [T3]=0, [T4]=0, [T5] :g
T6, —S—TC T7 —3—n T8 = 79 —S—R T10 _2_7:
[ ] - 2 > [ ] - 2 > [ ] - 2’ [ ] - 3 H [ ] - 3
T11 _= T2 *4—n T13 ek T14 *3—n TI15 Iz
[ ]_ 3> [ ] - 3 s [ ] - 4 s [ ] - 4 s [ ] - 4
Ti6, = Ti7] = Hr Ti8 —S—R T19 —7—n T20 =
[T16] =7, [TI7]==—=  [TI§] =" [T19]==—,  [120]="
[T21] =1,  [T22] =0,  [T23]=0,  [T24]=-1,  [T25]=]1, @
[T26] =0,  [T27] =1,  [T28] ="undefined",  [T29] =— @ [T30] = 31 , @
[T31] =2,  [T32] = @ [T33] = —ﬁ, [T34] = —@, [T35] =1, , @
[T36] = /2, [T37]:%, [T38]=—@, [T39] =2, [T40] =43, @
[T41] =-9,  [T42] =-6,  [T43] =21,
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[T44] =5
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TrigonometryExercise Answers for ID 12541

[TI] =0, [T2] =m, [T3] =m, [T4] =0, [’]‘5]:377.E

T6, T T7, 3— T8 = 79 —4—n T10 _S_n
[]—2, []—2, []—2, []—3, [ ]—3
Tl T TI2 —2—7[ Ti3 —7— Ti4 T T15 —3—7[
[ ]_ 39 [ ] 3 > [ ]_ 4 B [ ]_ 49 [ ]_ 4
5w T 5w 1= Tr
[T16] =——, [T17] =—, [T18] =——, [T19] = R [T20] =——
4 6 6 6
[T21] =0, [T22] =1, [T23] = "undefined", [T24] =0, [T25] =0, ,@
3 5| Ji
[T26] =1, [T27] =1, [T28] =0, [T29]:T, [T30]:;, ,7

=

[T31] =3, [T32] =- # [T33] = — @ [T34] == [T35] =1, ,

@, [T38]:§, [T39] =43, [T40]:£, ﬂ

[T36] =—[2,  [T37] = S -

[T41] =2,  [T42] =123,  [T43] =0,  [T44] =-30
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TrigonometryExercise Answers for ID 12590

[T]] =m, [T2] =0, [T3] =0, [T4] ==, [T5]:§

T 37 b 2n
[T6]:;, [T7]— E [T8]—7 [T9]:?, [TIO]:T
47 S5n i 3n S5n
[T]I]:T, [T12]—T [TB]_Z [T14]:T, [T15]:T
Tn 1= Tr 5n b4
[T16] :T, [T17] = , [T18] —?, [T19] :T’ [T20] :E
Jr
[T21] =1, [T22] =0, /T23] = "undefined", [/T24] = "undefined", [T25] =1, ,7
[T26] =0, [T27] = "undefined", [T28] =-1, [T29] —31, [T30] = —@, ,@
[T3I]:@, [T32]:«/;, [T33]:@, [T34]——@, [T35] =1, @
[T36] =1, [T37]:%, [T38]:—§, [T39] =-2, [T40]:«/;, 7\

[T41]=-13,  [T42]=-10,  [T43]=-10,  [T44] =-
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TrigonometryExercise Answers for ID 12621

[T1]=0,  [T2]=0, [T3]=m, [T4]=m,  [T5] :g
76, _3_75 17 —3—n 18 - 79 —ﬂ T10 ==
[ ]_ 2 ’ [ ] - 2 s [ ]_ 2> [ ]_ 3 4 [ ]_ 3
T11 _2r T12 _2r TI3 _1r T4 - T15 EL
[ ]_ 3 > [ ] - 3 > [ ] - 4 > [ ] - 49 [ ] - 4
Ti6, ek T17, 1 T18 _Ar T19 _2r 720 -
[ ]_ 4 4 [ ]_ 6 4 [ ] - 6 H [ ]_ 6 H [ ]_ 6
[T21] =-1, [T22] =0, [T23] ="undefined", [T24] =1, [T25] =0, ,@
[T26] =1,  [T27] =-1,  [T28] =0, [T29]:%, [T30]:£, @
[T31] =43, [T32]=-2,  [T33]=— @ [T34] = @ [T35] =1, @
[T36] =2, [T37) =%, [T38]:@, [T39] =—¥, [T40] = -2, @
[T41] =-13,  [T42] =-5,  [T43] =16,  [T44] =27
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TrigonometryExercise Answers for ID 12641

[T1] =0,

3
[T2] =0, [T3=n  [T4=x,  [T5] = 7“
D B B S A P
T2 T T 3 3
11y =2 12 = 2% 137 =% 147 =~ T15) =2
[]—3, []—3, []—4, []—4, [T15] 4
T T Tn ST 117
[TI6] ==, [TI7] ==,  [T18§] =—~,  [TI19] ==,  [T20]
4 6 6 6
\
[T21] =0,  [T22] =1,  [T23] ="undefined",  [T24] = "undefined”,  [T25] =0, £
|3 -1 i
[T26] =<1, [T27]=-1,  [T28] ="undefined”,  [T29] =—"—=  [T30] =7, S
243 3 2 2 \
[T31] :—[, [T32] =£, [T33] :—£, [T34] =—£, [T35] =1, i
3 3 2 2 /
B o

[T36] =42,  [T37] = - ms =

[T41] = 110,

X [Page = 0010]

[T39] =+[3,  [T40] = i @
[T42] =9,

3 .
[T43] = 10,

[T44] =-9
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TrigonometryExercise Answers for ID 12674

[T1] =0, [T2] =0, [T3] =m, [T4] =m, [T5]:§

3n 3w i P 2
[T6] == [T7]=" (T8 =", [T9]=".  [TI0] ="~
T11 —S—T[ T12 —4—n TI3 —3—n T4 - T15 —7—7[
[ ]_ 3 > [ ] - 3 > [ ] - 4 > [ ] - 49 [ ] - 4
Ti6, ek T17, - T18 ek T19 1z 120] = Hr
[ ]_ 4 4 [ ]_ 6’ [ ]_ 6 H [ ]_ 6 H [ ]_ 6
[T21] =-1, [T22] =0, [T23] ="undefined", [T24] =0, [T25] =0, ,@
[T26] =1,  [T27] ="undefined",  [T28] =0,  [T29] = % [T30] = @ , @
[T31] = @ [T32] =43, [T33] =- @ [T34] = @ [T35] =1, , @
[T36] =—[2,  [T37] = @ [T38] = % [T39] = @ [T40] = # , @

[T41] =4,  [T42] =-6,  [T43] =-6,  [T44] =27
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TrigonometryExercise Answers for ID 12728

[Tl]=n,  [T2]=0, [T3]=n,  [T4]=0,  [T5] :37“

37 b b b 27
[T6] =——, [T7] =—, [T8] =—, [T9] =—, [TI0] =——
2 2 3 3
T11 _—L TI2 *S—E TI3 77_7r Ti4 *S—TE TS5 73_75
[]—3, []—3, []—4, []—4, []—4
TI16 I T17 I TI18] = B T19 —S—TE 720 —7—n
[ ]_ 45 [ ]_ 6’ [ ]_ 6 B [ ]_ 6 B [ ]_ 6
I
[T21] =1, [T22] =0, [T23] = "undefined", [T24] = "undefined", [T25] =-1, ,7
3 1 il
[T26] =0, [T27] =-1, [T28] =0, [T29] =——, [T30] :E’ ,7

I -

[T31]=2,  [T32] =43, [T33] =" [T34]=——, [T35] =2, @

g, [T39] = -2, [T40]=£, @

[T36] =1, [T37]:%, [T38] = 3

[T41] =26,  [T42] =16,  [T43] =19,  [T44]=-6
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